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Note: (i) Thereareinall 17 questions in this question paper. All questions are compulsory.
(i)  Question No. I is multiple choice type. Question No. 2 to 6 are definite answer type. Question

No. 7 to 11 are of very short answer type. Question No. 12 to 14 are short answer type and
Questions No. 15 to 17 are long answer type.

(iif) Marks allotted to each question are mentioned against them.
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(Multiple Choice Type Questions)
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Four options are given in each part of the question. Write the correct option in your answer book -

Vector quantity in the following is -

(i) Mass (i) Volume

(i) Speed (iv) Force

®)
(&)
D)

E)

To protect his crop from frost in the winter, farmer irrigates his field, because -
(i) Specific heat of water is less (i) Specific heat of water is more
(iii) Latent heat of water is less (iv) Latent heat of water is more

Which is not a method of transmission of Heat in following ~

() Conduction (i) Convection
(iii) Radiation (iv) Gravity
‘Hertz’ is the unit of -

() Energy (i) Frequency
(i) Amplitude (iv) Time penod
In the following, which is an incorrect formula —
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(Definite Answer Type Questions)
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‘Light Year" is the unit of which physical quantity ?
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Given one example each of first and second kind of levers.
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Write the definition of "Acceleration due to Gravity”.
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What s the least distance of distinct vision for normal eye ?

Write the definition of * Relative Humidity’.
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(Verv Short Answer Type Questions)
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Write any two equations of motion.
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A machine works 240 Jouls in 40 seconds. Write the power of machine.
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Ploughing of fields block their wetness. Give reason.
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If temperature of any place is 10°C. what will be absolute temperature of that place ?
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Where does Retina lie ? What is its function ?
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(Short Answer Type Questions)
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How does Solar Eclipse happen? Explain with the help ofa clear diagram.
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How does the weather forecast for any place is made ? Clarify

o7 gifaT a1 a Hun @ ol fafead qen 9ue e gargd |

Write the definitions of Heat Capacity and Latent Heat and also write their units.
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The least count of a Screw Gauge is 0.01 cm. Clarify the meaning of this statement. Draw a labelled diagram
of Screw Gauge and explain its working procedure.
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Write the definition and unit of momentum. State the law of conservation of momentum and explain this law
giving an example.
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200 volt and 60 watt are written on a bulb. What is its resistance ? If it is used 8 hours per day in the month
of June, what will be the expenditure at the rate of Rupees 5 per unit ?
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Descnibe the working procedure of Common Pump diagrammatically.
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What do you understand by a lens ? How many type of lens are there ? [n the context of lens, write the
definitions of followings -

(i)  Principal axis () Optical centre
(iiy First focus (iv) Focal length.
4T (OR)
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Differentiate in following—
(a) Transverse Waves and Longitudinal Waves
(b)  Primary Cell and Secondary Cell
(¢) Dewand Hoar Frost
ok ok ok
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